
ICS Part 2 Economics English Medium Chapter 9 Online Test

Sr Questions Answers Choice

1 Litracy rate is lower in
A. Males
B. Females
C. Urban Areas
D. B and C above

2 There are stock exchange in Pakistan.
A. 1
B. 3
C. 4
D. 5

3 People do not care for environmetn problems because of.
A. Lack of education
B. Fear of taxes
C. Proverty
D. a and c of the above

4 Private sector participation is expending in.
A. Education
B. Health
C. Environment
D. a and b of the above

5 Many People do not send their children to schools because of
A. Their own illiteracy
B. Harsh teahers
C. Poverty
D. All of the above

6 Forest cover in Pakistanis.
A. 2%
B. 4%
C. 6%
D. 8%

7 Forest in Pakistan are decreasing beacause.
A. Populaton pressure
B. Poor consercation clanning
C. Climateic changes
D. All of the above

8 Environment includes.
A. Ecosystem
B. Wildlife
C. Forests
D. All of the above

9 Life expectancy in Pakistan is
A. Less than 60 years
B. Betwene 60 and 70 years
C. Between 70 and 80 years
D. More than 80 years

10 Infrant mortality rate in Pakistanis.
A. 45
B. 65
C. 85
D. 105

11 Public spending on health is
A. Less than 1%
B. More than 1 but less than 2%
C. More than 2 but less than 3%
D. More than 3

12 Life expectency in Pakistan is
A. 57
B. 67
C. 77
D. 87

13 The lower literacy rate in females is due to.

A. Lack of access to educational
institutions
B. Parental ignorance
C. Discriminatory socialnorms
D. all of the above

14 The government spends on education percentage of GDP
A. 2
B. 6
C. 8
D. 10

15 The percentage of our labour force workign in agricultureis.
A. 13%
B. 24%
C. 33%
D. 43%



D. 43%

16 The countribution of industrial section our GDP is.
A. 10%
B. 20%
C. 30%
D. 40%


